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[image: d\/dx(-x^4+8 x^2-9) = -4 x (x^2-4)]
Производная функции у = -х4 + 8х2 – 9 равна у’ = -4х3 + 16х или -4х(х2 – 4).
Для нахождения экстремумов надо производную приравнять нулю:
-4х(х2 – 4) = 0,
-4х = 0     х1 = 0      y1 = -9  это минимум,
х2 – 4 = 0  х2 = 4     х2  = +-2        
В заданном пределе -1 ≤ x ≤ 2   х2  = 2    y2 = -24 + 8*22 – 9 = 7 это максимум.

[image: Possible derivation:\nd\/dx(-x^4+8 x^2-9)\nDifferentiate the sum term by term and factor out constants:\n  =  d\/dx(-9)+8 (d\/dx(x^2))-d\/dx(x^4)\nThe derivative of -9 is zero:\n  =  8 (d\/dx(x^2))-d\/dx(x^4)+0\nSimplify the expression:\n  =  8 (d\/dx(x^2))-d\/dx(x^4)\nUse the power rule, d\/dx(x^n) = n x^(n-1), where n = 2: d\/dx(x^2) = 2 x:\n  =  -(d\/dx(x^4))+8 2 x\nSimplify the expression:\n  =  16 x-d\/dx(x^4)\nUse the power rule, d\/dx(x^n) = n x^(n-1), where n = 4: d\/dx(x^4) = 4 x^3:\nAnswer: |  \n |   =  16 x-4 x^3]
image7.gif
Possible derivation:
d

L xtrs-g)
dx

Differentiate the sum term bvtelm and factor out constants:

L orss( L) - L)

The derivative of — 9 is zero:

=s(L ) - L)+ o

Simplify the cxpresion:

8(£ ) - L)

a
Use the power rule, - (") = nx""!, where n
x

[d(4|)+s 2x

dx

Simplify the expression:

L
lﬁxfz((x )

a
Use the power rule, - (") =nx""!, where n =
x





image1.gif
function | -x*+8x2-9

maximize
jmain | —lsxs2





image2.gif




image3.gif
o s0s 05 1y 15 20 Gefom-lto2)




image4.gif
function | -x*+8x2-9
minimize
main | -lsxs2





image5.gif
minf-x* +8x* -9|-1=x=2}=-9 at x




image6.gif




